State of New Hampshire Department of Transportation

Project: LEBANON X-A000(141) 13951

County and Code: GRAFTON COUNTY 009

Date Bids Open: April 30, 2014

Scope of Work: BRIDGE REPLACEMENT

Location: US 4 OVER BOTH THE MASCOMA RIVER AND THE

NORTHERN RAIL TRAIL CORRIDOR

Completion Date: June 24, 2016

A R. S. AUDLEY, INC.

609 ROUTE 3A, BOW, NH 03304 \$8,943,584.35

B BECK & BELLUCCI, INC.

PO BOX 429, 10 SALISBURY ROAD FRANKLIN, NH 03235 \$9,089,746.46

C REED & REED, INC.

PO BOX 370 WOOLWICH, ME 04579 \$9,489,693.32

D E. D. SWETT, INC.

8 INDUSTRIAL PARK DR. CONCORD, NH 03301 \$9,539,376.97

E R.M. PIPER, INC.

PO BOX 490, PLYMOUTH, NH 03264 \$11,392,328.42

Item					A		В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.1	CLEARING AND GRUBBING (F)	Α	3.30	\$12,000.00	\$39,600.00	\$11,083.00	\$36,573.90	\$10,000.00	\$33,000.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	140.00	\$10.00	\$1,400.00	\$6.06	\$848.40	\$10.00	\$1,400.00
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	55.00	\$20.00	\$1,100.00	\$6.61	\$363.55	\$15.00	\$825.00
202.31	FILL ABANDONED PIPE	CY	20.00	\$175.00	\$3,500.00	\$131.26	\$2,625.20	\$125.00	\$2,500.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	590.00	\$8.00	\$4,720.00	\$11.06	\$6,525.40	\$10.00	\$5,900.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	4.00	\$425.00	\$1,700.00	\$164.51	\$658.04	\$250.00	\$1,000.00
202.7	REMOVAL OF GUARDRAIL	LF	825.00	\$1.00	\$825.00	\$1.05	\$866.25	\$1.00	\$825.00
202.742	REMOVAL OF CONCRETE BARRIER (SALVAGE TO DEPARTMENT)	LF	220.00	\$13.00	\$2,860.00	\$7.31	\$1,608.20	\$3.00	\$660.00
202.851	REMOVAL OF FLASHING BEACONS	U	1.00	\$6,200.00	\$6,200.00	\$6,500.00	\$6,500.00	\$6,200.00	\$6,200.00
203.1	COMMON EXCAVATION	CY	44,333.00	\$4.50	\$199,498.50	\$9.00	\$398,997.00	\$7.00	\$310,331.00
203.2	ROCK EXCAVATION	CY	825.00	\$30.00	\$24,750.00	\$25.00	\$20,625.00	\$25.00	\$20,625.00
203.37	SEGREGATING AND REHANDLING, NON- CONTAMINATED SOILS	CY	100.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00	\$10.00	\$1,000.00
203.53	LOW PERMEABILITY FILL (F)	CY	1,000.00	\$12.00	\$12,000.00	\$22.10	\$22,100.00	\$12.00	\$12,000.00
203.5540	GUARDRAIL TAPERED RAIL PLATFORM	LF	25.00	\$23.00	\$575.00	\$18.00	\$450.00	\$20.00	\$500.00
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$1,000.00	\$4,000.00	\$1,250.00	\$5,000.00	\$900.00	\$3,600.00
203.55541	GUARDRAIL 50' EAGRT PLATFORM ALTERNATE	U	2.00	\$1,000.00	\$2,000.00	\$1,250.00	\$2,500.00	\$900.00	\$1,800.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	7,300.00	\$4.50	\$32,850.00	\$5.00	\$36,500.00	\$5.00	\$36,500.00
203.63	MODIFIED EMBANKMENT- IN-PLACE	CY	4,400.00	\$8.00	\$35,200.00	\$13.85	\$60,940.00	\$12.00	\$52,800.00
206.1	COMMON STRUCTURE EXCAVATION	CY	6,704.00	\$12.00	\$80,448.00	\$7.85	\$52,626.40	\$8.00	\$53,632.00

Item					A		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	90.00	\$95.00	\$8,550.00	\$55.00	\$4,950.00	\$50.00	\$4,500.00
206.2	ROCK STRUCTURE EXCAVATION	CY	400.00	\$50.00	\$20,000.00	\$37.75	\$15,100.00	\$50.00	\$20,000.00
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	2,030.00	\$34.00	\$69,020.00	\$33.95	\$68,918.50	\$25.00	\$50,750.00
209.411	MODIFIED GRANULAR BACKFILL (GRAVEL)	CY	1,800.00	\$25.00	\$45,000.00	\$22.45	\$40,410.00	\$30.00	\$54,000.00
214	FINE GRADING	U	1.00	\$50,000.00	\$50,000.00	\$33,925.00	\$33,925.00	\$10,000.00	\$10,000.00
304.2	GRAVEL (F)	CY	10,800.00	\$24.00	\$259,200.00	\$25.40	\$274,320.00	\$18.00	\$194,400.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	100.00	\$26.00	\$2,600.00	\$27.50	\$2,750.00	\$25.00	\$2,500.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	7,500.00	\$30.00	\$225,000.00	\$29.75	\$223,125.00	\$22.00	\$165,000.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	5,700.00	\$70.00	\$399,000.00	\$74.55	\$424,935.00	\$77.00	\$438,900.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	110.00	\$125.00	\$13,750.00	\$126.00	\$13,860.00	\$125.00	\$13,750.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,500.00	\$2.00	\$3,000.00	\$3.70	\$5,550.00	\$4.00	\$6,000.00
403.6	PAVEMENT JOINT ADHESIVE	LF	31,140.00	\$0.30	\$9,342.00	\$0.45	\$14,013.00	\$0.50	\$15,570.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE (F)	TON	88.00	\$175.00	\$15,400.00	\$157.50	\$13,860.00	\$145.00	\$12,760.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	900.00	\$85.00	\$76,500.00	\$85.00	\$76,500.00	\$72.00	\$64,800.00
417	COLD PLANING BITUMINOUS SURFACES	SY	1,400.00	\$6.00	\$8,400.00	\$6.50	\$9,100.00	\$6.00	\$8,400.00
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$150,000.00	\$150,000.00	\$175,000.00	\$175,000.00	\$100,000.00	\$100,000.00
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$72,000.00	\$72,000.00	\$79,115.00	\$79,115.00	\$100,000.00	\$100,000.00
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$200,000.00	\$200,000.00	\$253,000.00	\$253,000.00	\$200,000.00	\$200,000.00

Item No: 503.201	Description COFFERDAMS	Unit	Quantity	Unit Price	A	Unit Price	B		C
503.201	COFFERDAMS		•	Office Free	Total	Unit Price	Total	Unit Price	Total
	· · · · · · · · · · · · · · · · · · ·	U	1.00	\$45,000.00	\$45,000.00	\$20,600.00	\$20,600.00	\$30,000.00	\$30,000.00
503.202	COFFERDAMS	U	1.00	\$50,000.00	\$50,000.00	\$41,500.00	\$41,500.00	\$40,000.00	\$40,000.00
503.203	COFFERDAMS	U	1.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$110,000.00	\$110,000.00
503.301	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$180,000.00	\$180,000.00	\$203,500.00	\$203,500.00	\$240,000.00	\$240,000.00
503.302	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$180,000.00	\$180,000.00	\$203,500.00	\$203,500.00	\$300,000.00	\$300,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	4,723.00	\$18.00	\$85,014.00	\$22.00	\$103,906.00	\$20.00	\$94,460.00
504.2	ROCK BRIDGE EXCAVATION	CY	50.00	\$60.00	\$3,000.00	\$90.00	\$4,500.00	\$90.00	\$4,500.00
508	STRUCTURAL FILL	CY	680.00	\$41.00	\$27,880.00	\$40.00	\$27,200.00	\$35.00	\$23,800.00
520.01	CONCRETE CLASS AA	CY	25.00	\$450.00	\$11,250.00	\$400.00	\$10,000.00	\$900.00	\$22,500.00
520.0302	CONCRETE CLASS AA APPROACH SLABS (QC/QA)(F)	CY	92.00	\$400.00	\$36,800.00	\$300.00	\$27,600.00	\$550.00	\$50,600.00
520.1	CONCRETE CLASS A	CY	14.00	\$1,500.00	\$21,000.00	\$940.00	\$13,160.00	\$800.00	\$11,200.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	CY	1,654.00	\$475.00	\$785,650.00	\$494.00	\$817,076.00	\$775.00	\$1,281,850.00
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	743.00	\$300.00	\$222,900.00	\$296.00	\$219,928.00	\$375.00	\$278,625.00
520.70026	CONCRETE BRIDGE DECK (QC/QA)(PANEL OPTION)(F)	CY	871.00	\$600.00	\$522,600.00	\$770.00	\$670,670.00	\$750.00	\$653,250.00
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	195.00	\$65.00	\$12,675.00	\$50.00	\$9,750.00	\$90.00	\$17,550.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	50.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00	\$50.00	\$2,500.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,568.00	\$16.25	\$25,480.00	\$17.30	\$27,126.40	\$17.00	\$26,656.00
541.1	PVC WATERSTOPS, NH TYPE 1 (F)	LF	97.00	\$6.00	\$582.00	\$5.00	\$485.00	\$10.00	\$970.00
541.4	PVC WATERSTOPS, NH TYPE 4 (F)	LF	72.00	\$9.00	\$648.00	\$10.00	\$720.00	\$10.00	\$720.00
544	REINFORCING STEEL (F)	LB	185,201.00	\$1.40	\$259,281.40	\$0.96	\$177,792.96	\$0.90	\$166,680.90

Item					Α		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
544.1	REINFORCING STEEL (ROADWAY)	LB	150.00	\$1.40	\$210.00	\$1.00	\$150.00	\$1.00	\$150.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	231,756.00	\$1.10	\$254,931.60	\$1.09	\$252,614.04	\$1.00	\$231,756.00
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	644.00	\$6.50	\$4,186.00	\$6.70	\$4,314.80	\$7.00	\$4,508.00
547	SHEAR CONNECTORS (F)	EA	9,195.00	\$5.30	\$48,733.50	\$5.18	\$47,630.10	\$4.00	\$36,780.00
548.21	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$2,300.00	\$11,500.00	\$2,800.00	\$14,000.00	\$3,100.00	\$15,500.00
548.22	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$2,650.00	\$13,250.00	\$3,200.00	\$16,000.00	\$3,400.00	\$17,000.00
548.23	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$1,500.00	\$7,500.00	\$1,825.00	\$9,125.00	\$2,200.00	\$11,000.00
550.1	STRUCTURAL STEEL (F)	LB	859,934.00	\$1.28	\$1,100,715.52	\$1.43	\$1,229,705.62	\$1.53	\$1,315,699.02
550.2	BRIDGE SHOES (F)	EA	5.00	\$4,500.00	\$22,500.00	\$4,420.00	\$22,100.00	\$5,000.00	\$25,000.00
561.101	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	73.00	\$500.00	\$36,500.00	\$520.00	\$37,960.00	\$650.00	\$47,450.00
561.301	PREFABRICATED EXPANSION JOINT, FINGER JOINT (F)	LF	73.00	\$1,100.00	\$80,300.00	\$1,250.00	\$91,250.00	\$1,400.00	\$102,200.00
562.1	SILICONE JOINT SEALANT (F)	LF	79.00	\$20.00	\$1,580.00	\$20.00	\$1,580.00	\$10.00	\$790.00
563.24	BRIDGE RAIL T4	LF	660.00	\$135.00	\$89,100.00	\$139.00	\$91,740.00	\$130.00	\$85,800.00
563.241	BRIDGE RAIL T4 WITH PROTECTIVE SCREENING	LF	224.00	\$190.00	\$42,560.00	\$212.50	\$47,600.00	\$200.00	\$44,800.00
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	4.00	\$5,000.00	\$20,000.00	\$5,825.00	\$23,300.00	\$5,600.00	\$22,400.00
585.2	STONE FILL, CLASS B	CY	1,950.00	\$40.00	\$78,000.00	\$33.00	\$64,350.00	\$35.00	\$68,250.00
585.21	STONE FILL, CLASS B (BRIDGE)	CY	410.00	\$43.00	\$17,630.00	\$37.45	\$15,354.50	\$35.00	\$14,350.00
585.3	STONE FILL, CLASS C	CY	5,200.00	\$34.00	\$176,800.00	\$31.35	\$163,020.00	\$35.00	\$182,000.00
587.1	KEYED STONE FILL	CY	376.00	\$42.00	\$15,792.00	\$37.45	\$14,081.20	\$40.00	\$15,040.00
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	4,550.00	\$3.50	\$15,925.00	\$2.00	\$9,100.00	\$2.00	\$9,100.00

Item					A		В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	1,850.00	\$3.50	\$6,475.00	\$2.00	\$3,700.00	\$2.00	\$3,700.00
603.0001	VIDEO INSPECTION	LF	10,100.00	\$0.70	\$7,070.00	\$1.00	\$10,100.00	\$0.75	\$7,575.00
603.00212	12" R.C. PIPE, 2000D	LF	45.00	\$43.00	\$1,935.00	\$46.40	\$2,088.00	\$45.00	\$2,025.00
603.00215	15" R.C. PIPE, 2000D	LF	300.00	\$44.00	\$13,200.00	\$82.10	\$24,630.00	\$50.00	\$15,000.00
603.00224	24" R.C. PIPE, 2000D	LF	270.00	\$54.00	\$14,580.00	\$90.00	\$24,300.00	\$70.00	\$18,900.00
603.00336	36" R.C. PIPE, 3000D	LF	40.00	\$93.00	\$3,720.00	\$132.15	\$5,286.00	\$110.00	\$4,400.00
603.34112	12" STEEL END SECTIONS	EA	3.00	\$225.00	\$675.00	\$210.00	\$630.00	\$200.00	\$600.00
603.34115	15" STEEL END SECTIONS	EA	2.00	\$245.00	\$490.00	\$235.00	\$470.00	\$225.00	\$450.00
603.82115	15" PE PIPE (TYPE C)	LF	70.00	\$56.00	\$3,920.00	\$30.50	\$2,135.00	\$35.00	\$2,450.00
603.82118	18" PE PIPE (TYPE C)	LF	155.00	\$58.00	\$8,990.00	\$31.10	\$4,820.50	\$37.00	\$5,735.00
603.82124	24" PE PIPE (TYPE C)	LF	950.00	\$70.00	\$66,500.00	\$49.85	\$47,357.50	\$50.00	\$47,500.00
603.82212	12" PE PIPE (TYPE S)	LF	220.00	\$56.00	\$12,320.00	\$31.60	\$6,952.00	\$30.00	\$6,600.00
603.82215	15" PE PIPE (TYPE S)	LF	838.00	\$58.00	\$48,604.00	\$28.00	\$23,464.00	\$35.00	\$29,330.00
603.82218	18" PE PIPE (TYPE S)	LF	160.00	\$75.00	\$12,000.00	\$38.75	\$6,200.00	\$37.00	\$5,920.00
603.82224	24" PE PIPE (TYPE S)	LF	575.00	\$82.00	\$47,150.00	\$51.75	\$29,756.25	\$50.00	\$28,750.00
603.82230	30" PE PIPE (TYPE S)	LF	75.00	\$90.00	\$6,750.00	\$138.00	\$10,350.00	\$125.00	\$9,375.00
603.82236	36" PE PIPE (TYPE S)	LF	45.00	\$98.00	\$4,410.00	\$212.85	\$9,578.25	\$200.00	\$9,000.00
603.99015	15" TEMPORARY DRAIN. PIPE	LF	92.00	\$72.00	\$6,624.00	\$55.00	\$5,060.00	\$50.00	\$4,600.00
604.0007	POLYETHYLENE LINER	EA	17.00	\$225.00	\$3,825.00	\$165.00	\$2,805.00	\$250.00	\$4,250.00
604.12	CATCH BASINS TYPE B	U	14.00	\$1,800.00	\$25,200.00	\$1,860.00	\$26,040.00	\$1,800.00	\$25,200.00
604.1249	TEMPORARY CATCH BASINS TYPE B	U	2.00	\$2,300.00	\$4,600.00	\$2,265.00	\$4,530.00	\$2,000.00	\$4,000.00
604.126	CATCH BASINS TYPE B, 6-FOOT DIAMETER	U	2.00	\$3,000.00	\$6,000.00	\$3,165.00	\$6,330.00	\$3,000.00	\$6,000.00
604.128	CATCH BASINS TYPE B, 8-FOOT DIAMETER	U	1.00	\$7,200.00	\$7,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
604.16	CATCH BASINS TYPE F	U	8.00	\$1,850.00	\$14,800.00	\$1,900.00	\$15,200.00	\$2,000.00	\$16,000.00
604.165	CATCH BASINS TYPE F, 5-FOOT DIAMETER	U	4.00	\$2,700.00	\$10,800.00	\$2,810.00	\$11,240.00	\$2,800.00	\$11,200.00

Item					A		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.166	CATCH BASINS TYPE F, 6-FOOT DIAMETER	U	3.00	\$3,050.00	\$9,150.00	\$4,120.00	\$12,360.00	\$4,000.00	\$12,000.00
604.168	CATCH BASIN TYPE F, 8 FT DIAMETER	U	3.00	\$7,250.00	\$21,750.00	\$5,000.00	\$15,000.00	\$5,000.00	\$15,000.00
604.1941	SPECIAL CATCH BASIN TYPE G, 4 FT DIAMETER	U	5.00	\$2,000.00	\$10,000.00	\$2,250.00	\$11,250.00	\$2,200.00	\$11,000.00
604.1951	SPECIAL CATCH BASIN TYPE G, 5 FT DIAMETER	U	2.00	\$2,900.00	\$5,800.00	\$3,185.00	\$6,370.00	\$3,000.00	\$6,000.00
604.26	DROP INLETS TYPE F	U	2.00	\$1,700.00	\$3,400.00	\$1,725.00	\$3,450.00	\$1,500.00	\$3,000.00
604.2941	SPECIAL DROP INLET TYPE G, 4 FT DIAMETER	U	6.00	\$1,800.00	\$10,800.00	\$1,750.00	\$10,500.00	\$2,000.00	\$12,000.00
604.32	DRAINAGE MANHOLES	U	16.00	\$1,900.00	\$30,400.00	\$2,000.00	\$32,000.00	\$2,000.00	\$32,000.00
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	6.00	\$2,800.00	\$16,800.00	\$2,810.00	\$16,860.00	\$2,800.00	\$16,800.00
604.326	DRAINAGE MANHOLES, 6-FOOT DIAMETER	U	4.00	\$3,200.00	\$12,800.00	\$3,805.00	\$15,220.00	\$3,200.00	\$12,800.00
604.398	SPECIAL DRAINAGE MANHOLES, 8-FOOT DIAMETER	U	2.00	\$7,975.00	\$15,950.00	\$8,000.00	\$16,000.00	\$8,000.00	\$16,000.00
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$2,600.00	\$2,600.00	\$2,395.00	\$2,395.00	\$2,500.00	\$2,500.00
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$2,650.00	\$2,650.00	\$2,395.00	\$2,395.00	\$2,500.00	\$2,500.00
605.5069	6" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	5,600.00	\$21.00	\$117,600.00	\$16.65	\$93,240.00	\$16.00	\$89,600.00
605.5129	12" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	380.00	\$28.00	\$10,640.00	\$27.70	\$10,526.00	\$25.00	\$9,500.00
605.5159	15" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	75.00	\$30.00	\$2,250.00	\$34.20	\$2,565.00	\$30.00	\$2,250.00
605.5189	18" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	390.00	\$35.00	\$13,650.00	\$42.75	\$16,672.50	\$35.00	\$13,650.00
605.79	UNDERDRAIN FLUSHING BASINS	EA	6.00	\$280.00	\$1,680.00	\$350.00	\$2,100.00	\$350.00	\$2,100.00

Item					A		В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	6.00	\$1,800.00	\$10,800.00	\$1,995.00	\$11,970.00	\$1,900.00	\$11,400.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$450.00	\$900.00	\$500.00	\$1,000.00	\$475.00	\$950.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	1,700.00	\$16.00	\$27,200.00	\$16.80	\$28,560.00	\$16.00	\$27,200.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	160.00	\$23.00	\$3,680.00	\$16.00	\$2,560.00	\$30.00	\$4,800.00
606.5716	WOOD GUARDRAIL (DOUBLE 4"X8" RAIL, 6'-6" WOOD POSTS)	LF	137.50	\$45.00	\$6,187.50	\$44.00	\$6,050.00	\$42.00	\$5,775.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,800.00	\$5,600.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
608.26	6" CONCRETE SIDEWALK (F)	SY	255.00	\$38.00	\$9,690.00	\$40.00	\$10,200.00	\$40.00	\$10,200.00
608.74	4" STONE DUST WEARING SURFACE FOR TRAILS	CY	140.00	\$76.00	\$10,640.00	\$36.25	\$5,075.00	\$35.00	\$4,900.00
609.01	STRAIGHT GRANITE CURB	LF	890.00	\$16.50	\$14,685.00	\$20.69	\$18,414.10	\$22.00	\$19,580.00
609.01187	STRAIGHT GRANITE CURB 18 IN HIGH, W/ 3 IN ROUNDED EDGE	LF	130.00	\$28.00	\$3,640.00	\$33.00	\$4,290.00	\$33.00	\$4,290.00
609.214	STRAIGHT GRANITE SLOPE CURB, 4" HIGH	LF	180.00	\$14.00	\$2,520.00	\$16.75	\$3,015.00	\$17.00	\$3,060.00
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	305.00	\$16.00	\$4,880.00	\$18.85	\$5,749.25	\$20.00	\$6,100.00
609.226	STRAIGHT GRANITE SLOPE CURB WITH RADIAL JOINTS, 6" HIGH		40.00	\$16.00	\$640.00	\$18.85	\$754.00	\$35.00	\$1,400.00
612.21283	24" STEEL CASING WITH 10" HDPE FORCE MAIN	LF	105.00	\$200.00	\$21,000.00	\$194.00	\$20,370.00	\$200.00	\$21,000.00

Item					A		В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
612.352	AIR RELEASE VALVE SEWER MANHOLE	EA	1.00	\$12,500.00	\$12,500.00	\$18,795.00	\$18,795.00	\$18,000.00	\$18,000.00
612.72410	10" HDPE FORCE MAIN, SDR 17	LF	961.00	\$60.00	\$57,660.00	\$75.00	\$72,075.00	\$75.00	\$72,075.00
612.86510	10" COUPLING	EA	2.00	\$1,000.00	\$2,000.00	\$1,315.00	\$2,630.00	\$1,200.00	\$2,400.00
612.951	SEWER MAIN INSULATION	SY	36.00	\$24.00	\$864.00	\$16.85	\$606.60	\$17.00	\$612.00
615.02	TRAFFIC SIGN TYPE B (F)	SF	45.50	\$125.00	\$5,687.50	\$78.75	\$3,583.13	\$95.00	\$4,322.50
615.022	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS (F)	SF	22.75	\$200.00	\$4,550.00	\$120.00	\$2,730.00	\$170.00	\$3,867.50
615.024	RELOCATING TRAFFIC SIGN, TYPE B	U	1.00	\$200.00	\$200.00	\$420.00	\$420.00	\$1,200.00	\$1,200.00
615.03	TRAFFIC SIGN TYPE C (F)	SF	187.25	\$45.00	\$8,426.25	\$47.25	\$8,847.56	\$30.00	\$5,617.50
615.06	TRAFFIC SIGN TYPE CC (F)	SF	52.59	\$12.00	\$631.08	\$19.00	\$999.21	\$10.00	\$525.90
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	35,600.00	\$1.00	\$35,600.00	\$1.00	\$35,600.00	\$1.00	\$35,600.00
618.7	FLAGGERS	HR	6,000.00	\$20.00	\$120,000.00	\$25.00	\$150,000.00	\$30.00	\$180,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$40,000.00	\$40,000.00	\$34,865.00	\$34,865.00	\$65,000.00	\$65,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$13,000.00	\$39,000.00	\$7,500.00	\$22,500.00	\$15,000.00	\$45,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	30.00	\$5.00	\$150.00	\$4.20	\$126.00	\$4.00	\$120.00
621.31	SINGLE DELINEATOR WITH POST	EA	70.00	\$38.00	\$2,660.00	\$36.75	\$2,572.50	\$35.00	\$2,450.00
622.1	STEEL WITNESS MARKERS	EA	65.00	\$25.00	\$1,625.00	\$26.25	\$1,706.25	\$25.00	\$1,625.00
622.2	CONCRETE BOUNDS	EA	19.00	\$300.00	\$5,700.00	\$341.00	\$6,479.00	\$250.00	\$4,750.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	32,500.00	\$0.18	\$5,850.00	\$0.15	\$4,875.00	\$0.15	\$4,875.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	320.00	\$1.50	\$480.00	\$1.57	\$502.40	\$1.50	\$480.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	125.00	\$2.50	\$312.50	\$2.10	\$262.50	\$2.00	\$250.00

Item					Α		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	65.00	\$5.00	\$325.00	\$4.20	\$273.00	\$4.00	\$260.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	60.00	\$5.00	\$300.00	\$10.50	\$630.00	\$10.00	\$600.00
641	LOAM	CY	85.00	\$22.00	\$1,870.00	\$37.50	\$3,187.50	\$30.00	\$2,550.00
644.82	SALT-TOLERANT GRASS SEED, TYPE 82	LB	40.00	\$38.00	\$1,520.00	\$42.00	\$1,680.00	\$40.00	\$1,600.00
645.0001	TURBIDITY BARRIER	LF	550.00	\$20.00	\$11,000.00	\$15.00	\$8,250.00	\$45.00	\$24,750.00
645.3	EROSION STONE	TON	1,500.00	\$24.00	\$36,000.00	\$23.95	\$35,925.00	\$24.00	\$36,000.00
645.42	TEMPORARY SLOPE STABILIZATION TYPE B (WILDLIFE FRIENDLY)	SY	28,000.00	\$1.25	\$35,000.00	\$1.31	\$36,680.00	\$1.25	\$35,000.00
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	15,200.00	\$1.35	\$20,520.00	\$1.42	\$21,584.00	\$1.35	\$20,520.00
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	160.00	\$8.00	\$1,280.00	\$13.25	\$2,120.00	\$8.00	\$1,280.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,200.00	\$3.00	\$6,600.00	\$4.00	\$8,800.00	\$3.50	\$7,700.00
645.531	SILT FENCE	LF	1,600.00	\$2.50	\$4,000.00	\$2.50	\$4,000.00	\$2.00	\$3,200.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	220.00	\$45.00	\$9,900.00	\$47.00	\$10,340.00	\$45.00	\$9,900.00
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	Α	7.00	\$1,700.00	\$11,900.00	\$2,000.00	\$14,000.00	\$1,900.00	\$13,300.00
647.1	HUMUS	CY	2,500.00	\$19.00	\$47,500.00	\$12.50	\$31,250.00	\$18.00	\$45,000.00
647.16	HUMUS, 6 IN DEEP	CY	270.00	\$14.50	\$3,915.00	\$12.50	\$3,375.00	\$18.00	\$4,860.00
650.2	LANDSCAPING	U	1.00	\$8,000.00	\$8,000.00	\$7,875.00	\$7,875.00	\$7,500.00	\$7,500.00
670.02	SEDIMENT SUMP MEASURING BLOCK	EA	2.00	\$525.00	\$1,050.00	\$350.00	\$700.00	\$300.00	\$600.00

Item					A		 В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$6,000.00	\$6,000.00	\$21,700.00	\$21,700.00	\$15,000.00	\$15,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$9,000.00	\$18,000.00	\$3,500.00	\$7,000.00	\$13,000.00	\$26,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,125.00	\$5.00	\$5,625.00	\$3.00	\$3,375.00	\$5.00	\$5,625.00
692	MOBILIZATION	U	1.00	\$800,000.00	\$800,000.00	\$451,000.00	\$451,000.00	\$300,000.00	\$300,000.00
693	ON-THE-JOB TRAINING OF UNSKILLED WORKERS	\$	600.00	\$1.00	\$600.00	\$1.00	\$600.00	\$1.00	\$600.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$500.00	\$500.00	\$265.00	\$265.00	\$250.00	\$250.00
697.41	CRITICAL PATH METHOD(CPM) ELECTRONIC SCHEDULE	U	1.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00
698.12	FIELD OFFICE TYPE B	MON	24.00	\$1,700.00	\$40,800.00	\$1,800.00	\$43,200.00	\$1,200.00	\$28,800.00
698.2	PHYSICAL TESTING LABORATORY	MON	24.00	\$800.00	\$19,200.00	\$500.00	\$12,000.00	\$1,000.00	\$24,000.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE(QC/QA) ASPHALT	\$	21,000.00	\$1.00	\$21,000.00	\$1.00	\$21,000.00	\$1.00	\$21,000.00
1010.41	QUALITY CONTROL QUALITY ASSURANCE(QC/QA) FOR CONCRETE	\$	33,000.00	\$1.00	\$33,000.00	\$1.00	\$33,000.00	\$1.00	\$33,000.00
					\$8,943,584.35		\$9,089,746.46	5	\$9,489,693.32

Item					D		E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.1	CLEARING AND GRUBBING (F)	Α	3.30	\$11,000.00	\$36,300.00	\$12,000.00	\$39,600.00		
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	140.00	\$6.00	\$840.00	\$6.75	\$945.00		
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	55.00	\$6.00	\$330.00	\$6.75	\$371.25		
202.31	FILL ABANDONED PIPE	CY	20.00	\$130.00	\$2,600.00	\$150.00	\$3,000.00		
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	590.00	\$11.00	\$6,490.00	\$12.00	\$7,080.00		
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	4.00	\$165.00	\$660.00	\$180.00	\$720.00		
202.7	REMOVAL OF GUARDRAIL	LF	825.00	\$2.00	\$1,650.00	\$2.00	\$1,650.00		
202.742	REMOVAL OF CONCRETE BARRIER (SALVAGE TO DEPARTMENT)	LF	220.00	\$10.00	\$2,200.00	\$8.00	\$1,760.00		
202.851	REMOVAL OF FLASHING BEACONS	U	1.00	\$2,500.00	\$2,500.00	\$6,800.00	\$6,800.00		
203.1	COMMON EXCAVATION	CY	44,333.00	\$9.00	\$398,997.00	\$10.00	\$443,330.00		
203.2	ROCK EXCAVATION	CY	825.00	\$25.00	\$20,625.00	\$27.00	\$22,275.00		
203.37	SEGREGATING AND REHANDLING, NON- CONTAMINATED SOILS	CY	100.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00		
203.53	LOW PERMEABILITY FILL (F)	CY	1,000.00	\$22.00	\$22,000.00	\$25.00	\$25,000.00		
203.5540	GUARDRAIL TAPERED RAIL PLATFORM	LF	25.00	\$18.00	\$450.00	\$20.00	\$500.00		
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$1,250.00	\$5,000.00	\$1,380.00	\$5,520.00		
203.55541	GUARDRAIL 50' EAGRT PLATFORM ALTERNATE	U	2.00	\$1,250.00	\$2,500.00	\$1,380.00	\$2,760.00		
203.6	EMBANKMENT-IN-PLACE (F)	CY	7,300.00	\$5.00	\$36,500.00	\$5.50	\$40,150.00		
203.63	MODIFIED EMBANKMENT- IN-PLACE	CY	4,400.00	\$14.00	\$61,600.00	\$15.00	\$66,000.00		
206.1	COMMON STRUCTURE EXCAVATION	CY	6,704.00	\$8.00	\$53,632.00	\$8.75	\$58,660.00		

Item					D		E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	90.00	\$55.00	\$4,950.00	\$60.00	\$5,400.00		
206.2	ROCK STRUCTURE EXCAVATION	CY	400.00	\$38.00	\$15,200.00	\$42.00	\$16,800.00		
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	2,030.00	\$34.00	\$69,020.00	\$37.50	\$76,125.00		
209.411	MODIFIED GRANULAR BACKFILL (GRAVEL)	CY	1,800.00	\$22.50	\$40,500.00	\$55.00	\$99,000.00		
214	FINE GRADING	U	1.00	\$50,000.00	\$50,000.00	\$37,500.00	\$37,500.00		
304.2	GRAVEL (F)	CY	10,800.00	\$25.00	\$270,000.00	\$28.00	\$302,400.00		
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	100.00	\$28.00	\$2,800.00	\$30.00	\$3,000.00		
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	7,500.00	\$30.00	\$225,000.00	\$32.00	\$240,000.00		
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	5,700.00	\$76.75	\$437,475.00	\$78.50	\$447,450.00		
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	110.00	\$125.00	\$13,750.00	\$132.00	\$14,520.00		
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,500.00	\$3.50	\$5,250.00	\$3.80	\$5,700.00		
403.6	PAVEMENT JOINT ADHESIVE	LF	31,140.00	\$0.45	\$14,013.00	\$0.24	\$7,473.60		
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE (F)	TON	88.00	\$145.00	\$12,760.00	\$166.00	\$14,608.00		
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	900.00	\$72.00	\$64,800.00	\$86.00	\$77,400.00		
417	COLD PLANING BITUMINOUS SURFACES	SY	1,400.00	\$6.00	\$8,400.00	\$7.00	\$9,800.00		
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$150,000.00	\$150,000.00	\$77,500.00	\$77,500.00		
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$100,000.00	\$100,000.00	\$87,500.00	\$87,500.00		
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$400,000.00	\$400,000.00	\$745,000.00	\$745,000.00		

Item					D				
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
503.201	COFFERDAMS	U	1.00	\$30,000.00	\$30,000.00	\$86,500.00	\$86,500.00		
503.202	COFFERDAMS	U	1.00	\$40,000.00	\$40,000.00	\$100,000.00	\$100,000.00		
503.203	COFFERDAMS	U	1.00	\$75,000.00	\$75,000.00	\$87,500.00	\$87,500.00		
503.301	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$250,000.00	\$250,000.00	\$288,000.00	\$288,000.00		
503.302	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$300,000.00	\$300,000.00	\$288,000.00	\$288,000.00		
504.1	COMMON BRIDGE EXCAVATION (F)	CY	4,723.00	\$22.00	\$103,906.00	\$24.50	\$115,713.50		
504.2	ROCK BRIDGE EXCAVATION	CY	50.00	\$90.00	\$4,500.00	\$100.00	\$5,000.00		
508	STRUCTURAL FILL	CY	680.00	\$40.00	\$27,200.00	\$44.00	\$29,920.00		
520.01	CONCRETE CLASS AA	CY	25.00	\$525.00	\$13,125.00	\$800.00	\$20,000.00		
520.0302	CONCRETE CLASS AA APPROACH SLABS (QC/QA)(F)	CY	92.00	\$300.00	\$27,600.00	\$350.00	\$32,200.00		
520.1	CONCRETE CLASS A	CY	14.00	\$940.00	\$13,160.00	\$890.00	\$12,460.00		
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	CY	1,654.00	\$500.00	\$827,000.00	\$700.00	\$1,157,800.00		
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	743.00	\$300.00	\$222,900.00	\$300.00	\$222,900.00		
520.70026	CONCRETE BRIDGE DECK (QC/QA)(PANEL OPTION)(F)	CY	871.00	\$800.00	\$696,800.00	\$750.00	\$653,250.00		
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	195.00	\$50.00	\$9,750.00	\$110.00	\$21,450.00		
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	50.00	\$50.00	\$2,500.00	\$28.00	\$1,400.00		
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,568.00	\$17.50	\$27,440.00	\$18.00	\$28,224.00		
541.1	PVC WATERSTOPS, NH TYPE 1 (F)	LF	97.00	\$5.00	\$485.00	\$8.00	\$776.00		
541.4	PVC WATERSTOPS, NH TYPE 4 (F)	LF	72.00	\$10.00	\$720.00	\$12.00	\$864.00		
544	REINFORCING STEEL (F)	LB	185,201.00	\$1.00	\$185,201.00	\$1.10	\$203,721.10		

Item					D		E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	_ Total	Unit Price	Total
544.1	REINFORCING STEEL (ROADWAY)	LB	150.00	\$1.00	\$150.00	\$1.10	\$165.00		
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	231,756.00	\$1.00	\$231,756.00	\$1.25	\$289,695.00		
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	644.00	\$7.50	\$4,830.00	\$10.00	\$6,440.00		
547	SHEAR CONNECTORS (F)	EA	9,195.00	\$5.00	\$45,975.00	\$4.75	\$43,676.25		
548.21	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$3,000.00	\$15,000.00	\$2,700.00	\$13,500.00		
548.22	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$3,500.00	\$17,500.00	\$3,000.00	\$15,000.00		
548.23	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$2,000.00	\$10,000.00	\$2,000.00	\$10,000.00		
550.1	STRUCTURAL STEEL (F)	LB	859,934.00	\$1.45	\$1,246,904.30	\$2.00	\$1,719,868.00		
550.2	BRIDGE SHOES (F)	EA	5.00	\$6,000.00	\$30,000.00	\$5,740.00	\$28,700.00		
561.101	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	73.00	\$650.00	\$47,450.00	\$700.00	\$51,100.00		
561.301	PREFABRICATED EXPANSION JOINT, FINGER JOINT (F)	LF	73.00	\$1,750.00	\$127,750.00	\$1,370.00	\$100,010.00		
562.1	SILICONE JOINT SEALANT (F)	LF	79.00	\$10.00	\$790.00	\$17.00	\$1,343.00		
563.24	BRIDGE RAIL T4	LF	660.00	\$150.00	\$99,000.00	\$140.00	\$92,400.00		
563.241	BRIDGE RAIL T4 WITH PROTECTIVE SCREENING	LF	224.00	\$200.00	\$44,800.00	\$220.00	\$49,280.00		
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	4.00	\$6,000.00	\$24,000.00	\$6,150.00	\$24,600.00		
585.2	STONE FILL, CLASS B	CY	1,950.00	\$33.00	\$64,350.00	\$36.00	\$70,200.00		
585.21	STONE FILL, CLASS B (BRIDGE)	CY	410.00	\$37.50	\$15,375.00	\$40.00	\$16,400.00		
585.3	STONE FILL, CLASS C	CY	5,200.00	\$31.35	\$163,020.00	\$35.00	\$182,000.00		
587.1	KEYED STONE FILL	CY	376.00	\$37.45	\$14,081.20	\$40.00	\$15,040.00		
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	4,550.00	\$2.00	\$9,100.00	\$2.20	\$10,010.00		

Item					D		 E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	1,850.00	\$2.00	\$3,700.00	\$2.20	\$4,070.00		
603.0001	VIDEO INSPECTION	LF	10,100.00	\$1.00	\$10,100.00	\$1.20	\$12,120.00		
603.00212	12" R.C. PIPE, 2000D	LF	45.00	\$46.00	\$2,070.00	\$50.00	\$2,250.00		
603.00215	15" R.C. PIPE, 2000D	LF	300.00	\$82.00	\$24,600.00	\$90.00	\$27,000.00		
603.00224	24" R.C. PIPE, 2000D	LF	270.00	\$90.00	\$24,300.00	\$100.00	\$27,000.00		
603.00336	36" R.C. PIPE, 3000D	LF	40.00	\$132.00	\$5,280.00	\$140.00	\$5,600.00		
603.34112	12" STEEL END SECTIONS	EA	3.00	\$210.00	\$630.00	\$230.00	\$690.00		
603.34115	15" STEEL END SECTIONS	EA	2.00	\$235.00	\$470.00	\$260.00	\$520.00		
603.82115	15" PE PIPE (TYPE C)	LF	70.00	\$30.00	\$2,100.00	\$34.00	\$2,380.00		
603.82118	18" PE PIPE (TYPE C)	LF	155.00	\$31.00	\$4,805.00	\$35.00	\$5,425.00		
603.82124	24" PE PIPE (TYPE C)	LF	950.00	\$50.00	\$47,500.00	\$55.00	\$52,250.00		
603.82212	12" PE PIPE (TYPE S)	LF	220.00	\$31.60	\$6,952.00	\$35.00	\$7,700.00		
603.82215	15" PE PIPE (TYPE S)	LF	838.00	\$28.00	\$23,464.00	\$30.00	\$25,140.00		
603.82218	18" PE PIPE (TYPE S)	LF	160.00	\$39.00	\$6,240.00	\$42.00	\$6,720.00		
603.82224	24" PE PIPE (TYPE S)	LF	575.00	\$51.75	\$29,756.25	\$57.00	\$32,775.00		
603.82230	30" PE PIPE (TYPE S)	LF	75.00	\$138.00	\$10,350.00	\$150.00	\$11,250.00		
603.82236	36" PE PIPE (TYPE S)	LF	45.00	\$213.00	\$9,585.00	\$235.00	\$10,575.00		
603.99015	15" TEMPORARY DRAIN. PIPE	LF	92.00	\$55.00	\$5,060.00	\$60.00	\$5,520.00		
604.0007	POLYETHYLENE LINER	EA	17.00	\$165.00	\$2,805.00	\$180.00	\$3,060.00		
604.12	CATCH BASINS TYPE B	U	14.00	\$2,000.00	\$28,000.00	\$2,060.00	\$28,840.00		
604.1249	TEMPORARY CATCH BASINS TYPE B	U	2.00	\$2,250.00	\$4,500.00	\$2,500.00	\$5,000.00		
604.126	CATCH BASINS TYPE B, 6-FOOT DIAMETER	U	2.00	\$3,500.00	\$7,000.00	\$3,500.00	\$7,000.00		
604.128	CATCH BASINS TYPE B, 8-FOOT DIAMETER	U	1.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00		
604.16	CATCH BASINS TYPE F	U	8.00	\$2,000.00	\$16,000.00	\$2,100.00	\$16,800.00		
604.165	CATCH BASINS TYPE F, 5-FOOT DIAMETER	U	4.00	\$2,800.00	\$11,200.00	\$3,100.00	\$12,400.00		

Item					D				
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.166	CATCH BASINS TYPE F, 6-FOOT DIAMETER	U	3.00	\$4,200.00	\$12,600.00	\$4,500.00	\$13,500.00		
604.168	CATCH BASIN TYPE F, 8 FT DIAMETER	U	3.00	\$5,000.00	\$15,000.00	\$5,500.00	\$16,500.00		
604.1941	SPECIAL CATCH BASIN TYPE G, 4 FT DIAMETER	U	5.00	\$2,200.00	\$11,000.00	\$2,490.00	\$12,450.00		
604.1951	SPECIAL CATCH BASIN TYPE G, 5 FT DIAMETER	U	2.00	\$3,200.00	\$6,400.00	\$3,525.00	\$7,050.00		
604.26	DROP INLETS TYPE F	U	2.00	\$2,000.00	\$4,000.00	\$1,900.00	\$3,800.00		
604.2941	SPECIAL DROP INLET TYPE G, 4 FT DIAMETER	U	6.00	\$2,000.00	\$12,000.00	\$1,900.00	\$11,400.00		
604.32	DRAINAGE MANHOLES	U	16.00	\$2,000.00	\$32,000.00	\$2,200.00	\$35,200.00		
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	6.00	\$2,800.00	\$16,800.00	\$3,100.00	\$18,600.00		
604.326	DRAINAGE MANHOLES, 6-FOOT DIAMETER	U	4.00	\$3,800.00	\$15,200.00	\$4,200.00	\$16,800.00		
604.398	SPECIAL DRAINAGE MANHOLES, 8-FOOT DIAMETER	U	2.00	\$8,000.00	\$16,000.00	\$8,850.00	\$17,700.00		
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$2,400.00	\$2,400.00	\$2,650.00	\$2,650.00		
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$2,400.00	\$2,400.00	\$2,650.00	\$2,650.00		
605.5069	6" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	5,600.00	\$16.65	\$93,240.00	\$18.50	\$103,600.00		
605.5129	12" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	380.00	\$27.70	\$10,526.00	\$30.00	\$11,400.00		
605.5159	15" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	75.00	\$34.20	\$2,565.00	\$37.50	\$2,812.50		
605.5189	18" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	390.00	\$42.75	\$16,672.50	\$47.50	\$18,525.00		
605.79	UNDERDRAIN FLUSHING BASINS	EA	6.00	\$350.00	\$2,100.00	\$380.00	\$2,280.00		

Item					D		E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	6.00	\$2,000.00	\$12,000.00	\$2,100.00	\$12,600.00		
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$500.00	\$1,000.00	\$525.00	\$1,050.00		
06.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	1,700.00	\$16.00	\$27,200.00	\$17.50	\$29,750.00		
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	160.00	\$20.00	\$3,200.00	\$27.50	\$4,400.00		
606.5716	WOOD GUARDRAIL (DOUBLE 4"X8" RAIL, 6'-6" WOOD POSTS)	LF	137.50	\$40.00	\$5,500.00	\$46.50	\$6,393.75		
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,500.00	\$5,000.00	\$4,250.00	\$8,500.00		
08.26	6" CONCRETE SIDEWALK (F)	SY	255.00	\$50.00	\$12,750.00	\$33.00	\$8,415.00		
608.74	4" STONE DUST WEARING SURFACE FOR TRAILS	CY	140.00	\$36.00	\$5,040.00	\$40.00	\$5,600.00		
09.01	STRAIGHT GRANITE CURB	LF	890.00	\$21.00	\$18,690.00	\$23.00	\$20,470.00		
609.01187	STRAIGHT GRANITE CURB 18 IN HIGH, W/ 3 IN ROUNDED EDGE	LF	130.00	\$33.00	\$4,290.00	\$36.50	\$4,745.00		
609.214	STRAIGHT GRANITE SLOPE CURB, 4" HIGH	LF	180.00	\$17.00	\$3,060.00	\$20.00	\$3,600.00		
09.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	305.00	\$20.00	\$6,100.00	\$22.00	\$6,710.00		
09.226	STRAIGHT GRANITE SLOPE CURB WITH RADIAL JOINTS, 6" HIGH	LF	40.00	\$20.00	\$800.00	\$22.00	\$880.00		
12.21283	24" STEEL CASING WITH 10" HDPE FORCE MAIN	LF	105.00	\$194.00	\$20,370.00	\$215.00	\$22,575.00		

Item					D				
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
612.352	AIR RELEASE VALVE SEWER MANHOLE	EA	1.00	\$19,000.00	\$19,000.00	\$20,800.00	\$20,800.00		
612.72410	10" HDPE FORCE MAIN, SDR 17	LF	961.00	\$75.00	\$72,075.00	\$83.00	\$79,763.00		
612.86510	10" COUPLING	EA	2.00	\$1,300.00	\$2,600.00	\$1,450.00	\$2,900.00		
612.951	SEWER MAIN INSULATION	SY	36.00	\$16.85	\$606.60	\$18.50	\$666.00		
615.02	TRAFFIC SIGN TYPE B (F)	SF	45.50	\$75.00	\$3,412.50	\$140.00	\$6,370.00		
615.022	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS (F)	SF	22.75	\$115.00	\$2,616.25	\$220.00	\$5,005.00		
615.024	RELOCATING TRAFFIC SIGN, TYPE B	U	1.00	\$400.00	\$400.00	\$220.00	\$220.00		
615.03	TRAFFIC SIGN TYPE C (F)	SF	187.25	\$45.00	\$8,426.25	\$50.00	\$9,362.50		
615.06	TRAFFIC SIGN TYPE CC (F)	SF	52.59	\$18.00	\$946.62	\$13.50	\$709.97		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	35,600.00	\$1.00	\$35,600.00	\$1.00	\$35,600.00		
618.7	FLAGGERS	HR	6,000.00	\$20.00	\$120,000.00	\$26.00	\$156,000.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$60,000.00	\$60,000.00	\$150,000.00	\$150,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$5,000.00	\$15,000.00	\$12,500.00	\$37,500.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	30.00	\$5.00	\$150.00	\$4.50	\$135.00		
621.31	SINGLE DELINEATOR WITH POST	EA	70.00	\$35.00	\$2,450.00	\$38.00	\$2,660.00		
622.1	STEEL WITNESS MARKERS	EA	65.00	\$25.00	\$1,625.00	\$27.50	\$1,787.50		
622.2	CONCRETE BOUNDS	EA	19.00	\$250.00	\$4,750.00	\$165.00	\$3,135.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	32,500.00	\$0.14	\$4,550.00	\$0.15	\$4,875.00		
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	320.00	\$1.50	\$480.00	\$1.60	\$512.00		
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	125.00	\$2.00	\$250.00	\$2.20	\$275.00		

Item					D		E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	65.00	\$4.00	\$260.00	\$4.50	\$292.50		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	60.00	\$10.00	\$600.00	\$11.00	\$660.00		
641	LOAM	CY	85.00	\$37.50	\$3,187.50	\$41.00	\$3,485.00		
644.82	SALT-TOLERANT GRASS SEED, TYPE 82	LB	40.00	\$40.00	\$1,600.00	\$40.00	\$1,600.00		
645.0001	TURBIDITY BARRIER	LF	550.00	\$25.00	\$13,750.00	\$28.00	\$15,400.00		
645.3	EROSION STONE	TON	1,500.00	\$24.00	\$36,000.00	\$26.50	\$39,750.00		
645.42	TEMPORARY SLOPE STABILIZATION TYPE B (WILDLIFE FRIENDLY)	SY	28,000.00	\$1.25	\$35,000.00	\$2.25	\$63,000.00		
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	15,200.00	\$1.35	\$20,520.00	\$2.25	\$34,200.00		
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	160.00	\$8.00	\$1,280.00	\$12.00	\$1,920.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,200.00	\$3.50	\$7,700.00	\$4.50	\$9,900.00		
645.531	SILT FENCE	LF	1,600.00	\$2.10	\$3,360.00	\$2.75	\$4,400.00		
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,000.00	\$2,000.00	\$7,300.00	\$7,300.00		
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	220.00	\$45.00	\$9,900.00	\$60.00	\$13,200.00		
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	Α	7.00	\$1,900.00	\$13,300.00	\$2,100.00	\$14,700.00		
647.1	HUMUS	CY	2,500.00	\$12.50	\$31,250.00	\$15.00	\$37,500.00		
647.16	HUMUS, 6 IN DEEP	CY	270.00	\$12.50	\$3,375.00	\$15.00	\$4,050.00		
650.2	LANDSCAPING	U	1.00	\$7,500.00	\$7,500.00	\$8,300.00	\$8,300.00		
670.02	SEDIMENT SUMP MEASURING BLOCK	EA	2.00	\$350.00	\$700.00	\$500.00	\$1,000.00		

Item					D				
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$21,700.00	\$21,700.00	\$55,000.00	\$55,000.00		
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$10,000.00	\$20,000.00	\$6,000.00	\$12,000.00		
670.95	TEMPORARY SAFETY FENCE	LF	1,125.00	\$5.00	\$5,625.00	\$8.00	\$9,000.00		
692	MOBILIZATION	U	1.00	\$450,000.00	\$450,000.00	\$490,000.00	\$490,000.00		
693	ON-THE-JOB TRAINING OF UNSKILLED WORKERS	\$	600.00	\$1.00	\$600.00	\$1.00	\$600.00		
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$250.00	\$250.00	\$1,200.00	\$1,200.00		
697.41	CRITICAL PATH METHOD(CPM) ELECTRONIC SCHEDULE	U	1.00	\$500.00	\$500.00	\$4,000.00	\$4,000.00		
698.12	FIELD OFFICE TYPE B	MON	24.00	\$1,500.00	\$36,000.00	\$1,300.00	\$31,200.00		
698.2	PHYSICAL TESTING LABORATORY	MON	24.00	\$300.00	\$7,200.00	\$650.00	\$15,600.00		
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE(QC/QA) ASPHALT	\$	21,000.00	\$1.00	\$21,000.00	\$1.00	\$21,000.00		
1010.41	QUALITY CONTROL QUALITY ASSURANCE(QC/QA) FOR CONCRETE	\$	33,000.00	\$1.00	\$33,000.00	\$1.00	\$33,000.00		
					\$9,539,376.97	\$	311,392,328.42		

			A -	PS&E Con	nparison	PS&E = NHDOT Cost Estimate			
Item				,	A-Bidder		PS&E	A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
201.1	CLEARING AND GRUBBING (F)	Α	3.30	\$12,000.00	\$39,600.00	\$6,000.00	\$19,800.00	\$19,800.00	
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	140.00	\$10.00	\$1,400.00	\$2.00	\$280.00	\$1,120.00	
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	55.00	\$20.00	\$1,100.00	\$2.00	\$110.00	\$990.00	
202.31	FILL ABANDONED PIPE	CY	20.00	\$175.00	\$3,500.00	\$200.00	\$4,000.00	(\$500.00)	
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	590.00	\$8.00	\$4,720.00	\$12.00	\$7,080.00	(\$2,360.00)	
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	4.00	\$425.00	\$1,700.00	\$275.00	\$1,100.00	\$600.00	
202.7	REMOVAL OF GUARDRAIL	LF	825.00	\$1.00	\$825.00	\$1.00	\$825.00	\$0.00	
202.742	REMOVAL OF CONCRETE BARRIER (SALVAGE TO DEPARTMENT)	LF	220.00	\$13.00	\$2,860.00	\$5.00	\$1,100.00	\$1,760.00	
202.851	REMOVAL OF FLASHING BEACONS	U	1.00	\$6,200.00	\$6,200.00	\$2,500.00	\$2,500.00	\$3,700.00	
203.1	COMMON EXCAVATION	CY	44,333.00	\$4.50	\$199,498.50	\$7.50	\$332,497.50	(\$132,999.00)	
203.2	ROCK EXCAVATION	CY	825.00	\$30.00	\$24,750.00	\$25.00	\$20,625.00	\$4,125.00	
203.37	SEGREGATING AND REHANDLING, NON- CONTAMINATED SOILS	CY	100.00	\$30.00	\$3,000.00	\$10.00	\$1,000.00	\$2,000.00	
203.53	LOW PERMEABILITY FILL (F)	CY	1,000.00	\$12.00	\$12,000.00	\$12.00	\$12,000.00	\$0.00	
203.5540	GUARDRAIL TAPERED RAIL PLATFORM	LF	25.00	\$23.00	\$575.00	\$10.00	\$250.00	\$325.00	
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$1,000.00	\$4,000.00	\$950.00	\$3,800.00	\$200.00	
203.55541	GUARDRAIL 50' EAGRT PLATFORM ALTERNATE	U	2.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00	(\$400.00)	
203.6	EMBANKMENT-IN-PLACE (F)	CY	7,300.00	\$4.50	\$32,850.00	\$5.00	\$36,500.00	(\$3,650.00)	
203.63	MODIFIED EMBANKMENT- IN-PLACE	CY	4,400.00	\$8.00	\$35,200.00	\$12.00	\$52,800.00	(\$17,600.00)	
206.1	COMMON STRUCTURE	CY	6,704.00	\$12.00	\$80,448.00	\$16.00	\$107,264.00	(\$26,816.00)	

EXCAVATION

			Α-	Р	PS&E = NHDOT Cost Estimate			
Item				<i>F</i>	A-Bidder		 PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	90.00	\$95.00	\$8,550.00	\$45.00	\$4,050.00	\$4,500.00
206.2	ROCK STRUCTURE EXCAVATION	CY	400.00	\$50.00	\$20,000.00	\$55.00	\$22,000.00	(\$2,000.00)
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	2,030.00	\$34.00	\$69,020.00	\$30.00	\$60,900.00	\$8,120.00
209.411	MODIFIED GRANULAR BACKFILL (GRAVEL)	CY	1,800.00	\$25.00	\$45,000.00	\$42.00	\$75,600.00	(\$30,600.00)
214	FINE GRADING	U	1.00	\$50,000.00	\$50,000.00	\$22,000.00	\$22,000.00	\$28,000.00
304.2	GRAVEL (F)	CY	10,800.00	\$24.00	\$259,200.00	\$15.00	\$162,000.00	\$97,200.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	100.00	\$26.00	\$2,600.00	\$30.00	\$3,000.00	(\$400.00)
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	7,500.00	\$30.00	\$225,000.00	\$20.00	\$150,000.00	\$75,000.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	5,700.00	\$70.00	\$399,000.00	\$72.00	\$410,400.00	(\$11,400.00)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	110.00	\$125.00	\$13,750.00	\$110.00	\$12,100.00	\$1,650.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,500.00	\$2.00	\$3,000.00	\$1.25	\$1,875.00	\$1,125.00
403.6	PAVEMENT JOINT ADHESIVE	LF	31,140.00	\$0.30	\$9,342.00	\$0.25	\$7,785.00	\$1,557.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE (F)	TON	88.00	\$175.00	\$15,400.00	\$180.00	\$15,840.00	(\$440.00)
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	900.00	\$85.00	\$76,500.00	\$90.00	\$81,000.00	(\$4,500.00)
417	COLD PLANING BITUMINOUS SURFACES	SY	1,400.00	\$6.00	\$8,400.00	\$1.50	\$2,100.00	\$6,300.00
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$150,000.00	\$150,000.00	\$229,495.00	\$229,495.00	(\$79,495.00)

\$72,000.00

\$72,000.00

\$375,000.00

\$375,000.00

(\$303,000.00)

REMOVAL OF EXISTING BRIDGE STRUCTURE

U

1.00

			Α-	PS&E Con	nparison			PS&E = NHDOT Cost Estimate
Item					A-Bidder		 PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$200,000.00	\$200,000.00	\$125,000.00	\$125,000.00	\$75,000.00
503.201	COFFERDAMS	U	1.00	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00	\$20,000.00
503.202	COFFERDAMS	U	1.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$25,000.00
503.203	COFFERDAMS	U	1.00	\$10,000.00	\$10,000.00	\$75,000.00	\$75,000.00	(\$65,000.00)
503.301	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$180,000.00	\$180,000.00	\$25,000.00	\$25,000.00	\$155,000.00
503.302	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$180,000.00	\$180,000.00	\$25,000.00	\$25,000.00	\$155,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	4,723.00	\$18.00	\$85,014.00	\$15.00	\$70,845.00	\$14,169.00
504.2	ROCK BRIDGE EXCAVATION	CY	50.00	\$60.00	\$3,000.00	\$100.00	\$5,000.00	(\$2,000.00)
508	STRUCTURAL FILL	CY	680.00	\$41.00	\$27,880.00	\$35.00	\$23,800.00	\$4,080.00
520.01	CONCRETE CLASS AA	CY	25.00	\$450.00	\$11,250.00	\$800.00	\$20,000.00	(\$8,750.00)
520.0302	CONCRETE CLASS AA APPROACH SLABS (QC/QA)(F)	CY	92.00	\$400.00	\$36,800.00	\$350.00	\$32,200.00	\$4,600.00
520.1	CONCRETE CLASS A	CY	14.00	\$1,500.00	\$21,000.00	\$900.00	\$12,600.00	\$8,400.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	CY	1,654.00	\$475.00	\$785,650.00	\$500.00	\$827,000.00	(\$41,350.00)
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	743.00	\$300.00	\$222,900.00	\$300.00	\$222,900.00	\$0.00
520.70026	CONCRETE BRIDGE DECK (QC/QA)(PANEL OPTION)(F)	CY	871.00	\$600.00	\$522,600.00	\$800.00	\$696,800.00	(\$174,200.00)
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	195.00	\$65.00	\$12,675.00	\$80.00	\$15,600.00	(\$2,925.00)
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	50.00	\$50.00	\$2,500.00	\$46.00	\$2,300.00	\$200.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,568.00	\$16.25	\$25,480.00	\$20.00	\$31,360.00	(\$5,880.00)

\$6.00

\$582.00

\$8.00

\$776.00

(\$194.00)

PVC WATERSTOPS, NH TYPE 1 (F)

LF

97.00

			A -	PS&E Con	nparison		PS8	&E = NHDOT Cost Estimate
Item					A-Bidder		PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
541.4	PVC WATERSTOPS, NH TYPE 4 (F)	LF	72.00	\$9.00	\$648.00	\$10.00	\$720.00	(\$72.00)
544	REINFORCING STEEL (F)	LB	185,201.00	\$1.40	\$259,281.40	\$1.15	\$212,981.15	\$46,300.25
544.1	REINFORCING STEEL (ROADWAY)	LB	150.00	\$1.40	\$210.00	\$1.25	\$187.50	\$22.50
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	231,756.00	\$1.10	\$254,931.60	\$1.15	\$266,519.40	(\$11,587.80)
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	644.00	\$6.50	\$4,186.00	\$7.00	\$4,508.00	(\$322.00)
547	SHEAR CONNECTORS (F)	EA	9,195.00	\$5.30	\$48,733.50	\$5.00	\$45,975.00	\$2,758.50
548.21	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$2,300.00	\$11,500.00	\$1,700.00	\$8,500.00	\$3,000.00
548.22	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$2,650.00	\$13,250.00	\$4,250.00	\$21,250.00	(\$8,000.00)
548.23	ELASTOMERIC BEARING ASSEMBLIES (F)	EA	5.00	\$1,500.00	\$7,500.00	\$4,250.00	\$21,250.00	(\$13,750.00)
550.1	STRUCTURAL STEEL (F)	LB	859,934.00	\$1.28	\$1,100,715.52	\$1.40	\$1,203,907.60	(\$103,192.08)
550.2	BRIDGE SHOES (F)	EA	5.00	\$4,500.00	\$22,500.00	\$3,000.00	\$15,000.00	\$7,500.00
561.101	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	73.00	\$500.00	\$36,500.00	\$550.00	\$40,150.00	(\$3,650.00)
561.301	PREFABRICATED EXPANSION JOINT, FINGER JOINT (F)	LF	73.00	\$1,100.00	\$80,300.00	\$1,200.00	\$87,600.00	(\$7,300.00)
562.1	SILICONE JOINT SEALANT (F)	LF	79.00	\$20.00	\$1,580.00	\$50.00	\$3,950.00	(\$2,370.00)
563.24	BRIDGE RAIL T4	LF	660.00	\$135.00	\$89,100.00	\$150.00	\$99,000.00	(\$9,900.00)
563.241	BRIDGE RAIL T4 WITH PROTECTIVE SCREENING	LF	224.00	\$190.00	\$42,560.00	\$200.00	\$44,800.00	(\$2,240.00)
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	4.00	\$5,000.00	\$20,000.00	\$5,750.00	\$23,000.00	(\$3,000.00)
585.2	STONE FILL, CLASS B	CY	1,950.00	\$40.00	\$78,000.00	\$32.00	\$62,400.00	\$15,600.00
585.21	STONE FILL, CLASS B (BRIDGE)	CY	410.00	\$43.00	\$17,630.00	\$40.00	\$16,400.00	\$1,230.00
585.3	STONE FILL, CLASS C	CY	5,200.00	\$34.00	\$176,800.00	\$26.00	\$135,200.00	\$41,600.00

\$42.00

\$15,792.00

\$40.00

\$15,040.00

\$752.00

587.1

KEYED STONE FILL

CY

			Α-	PS&E	PS&E = NHDOT Cost Estimate			
Item					k-Bidder		S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	4,550.00	\$3.50	\$15,925.00	\$2.50	\$11,375.00	\$4,550.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	1,850.00	\$3.50	\$6,475.00	\$2.50	\$4,625.00	\$1,850.00
603.0001	VIDEO INSPECTION	LF	10,100.00	\$0.70	\$7,070.00	\$0.65	\$6,565.00	\$505.00
603.00212	12" R.C. PIPE, 2000D	LF	45.00	\$43.00	\$1,935.00	\$50.00	\$2,250.00	(\$315.00)
603.00215	15" R.C. PIPE, 2000D	LF	300.00	\$44.00	\$13,200.00	\$45.00	\$13,500.00	(\$300.00)
603.00224	24" R.C. PIPE, 2000D	LF	270.00	\$54.00	\$14,580.00	\$70.00	\$18,900.00	(\$4,320.00)
603.00336	36" R.C. PIPE, 3000D	LF	40.00	\$93.00	\$3,720.00	\$85.00	\$3,400.00	\$320.00
603.34112	12" STEEL END SECTIONS	EA	3.00	\$225.00	\$675.00	\$150.00	\$450.00	\$225.00
603.34115	15" STEEL END SECTIONS	EA	2.00	\$245.00	\$490.00	\$200.00	\$400.00	\$90.00
603.82115	15" PE PIPE (TYPE C)	LF	70.00	\$56.00	\$3,920.00	\$35.00	\$2,450.00	\$1,470.00
603.82118	18" PE PIPE (TYPE C)	LF	155.00	\$58.00	\$8,990.00	\$40.00	\$6,200.00	\$2,790.00
603.82124	24" PE PIPE (TYPE C)	LF	950.00	\$70.00	\$66,500.00	\$47.00	\$44,650.00	\$21,850.00
603.82212	12" PE PIPE (TYPE S)	LF	220.00	\$56.00	\$12,320.00	\$35.00	\$7,700.00	\$4,620.00
603.82215	15" PE PIPE (TYPE S)	LF	838.00	\$58.00	\$48,604.00	\$45.00	\$37,710.00	\$10,894.00
603.82218	18" PE PIPE (TYPE S)	LF	160.00	\$75.00	\$12,000.00	\$60.00	\$9,600.00	\$2,400.00
603.82224	24" PE PIPE (TYPE S)	LF	575.00	\$82.00	\$47,150.00	\$50.00	\$28,750.00	\$18,400.00
603.82230	30" PE PIPE (TYPE S)	LF	75.00	\$90.00	\$6,750.00	\$60.00	\$4,500.00	\$2,250.00
603.82236	36" PE PIPE (TYPE S)	LF	45.00	\$98.00	\$4,410.00	\$70.00	\$3,150.00	\$1,260.00
603.99015	15" TEMPORARY DRAIN. PIPE	LF	92.00	\$72.00	\$6,624.00	\$45.00	\$4,140.00	\$2,484.00
604.0007	POLYETHYLENE LINER	EA	17.00	\$225.00	\$3,825.00	\$130.00	\$2,210.00	\$1,615.00
604.12	CATCH BASINS TYPE B	U	14.00	\$1,800.00	\$25,200.00	\$1,950.00	\$27,300.00	(\$2,100.00)
604.1249	TEMPORARY CATCH BASINS TYPE B	U	2.00	\$2,300.00	\$4,600.00	\$1,950.00	\$3,900.00	\$700.00
604.126	CATCH BASINS TYPE B, 6-FOOT DIAMETER	U	2.00	\$3,000.00	\$6,000.00	\$3,100.00	\$6,200.00	(\$200.00)
604.128	CATCH BASINS TYPE B, 8-FOOT DIAMETER	U	1.00	\$7,200.00	\$7,200.00	\$7,000.00	\$7,000.00	\$200.00
								(* (* * * * * * * * * * * * * * * * *

\$1,850.00

\$14,800.00

\$2,000.00

\$16,000.00

(\$1,200.00)

CATCH BASINS TYPE F

604.16

U

		PS	PS&E = NHDOT Cost Estimate						
Item				A - PS&E Comparison A-Bidder			PS&E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference	
604.165	CATCH BASINS TYPE F, 5-FOOT DIAMETER	U	4.00	\$2,700.00	\$10,800.00	\$2,800.00	\$11,200.00	(\$400.00)	
604.166	CATCH BASINS TYPE F, 6-FOOT DIAMETER	U	3.00	\$3,050.00	\$9,150.00	\$3,200.00	\$9,600.00	(\$450.00)	
604.168	CATCH BASIN TYPE F, 8 FT DIAMETER	U	3.00	\$7,250.00	\$21,750.00	\$3,600.00	\$10,800.00	\$10,950.00	
604.1941	SPECIAL CATCH BASIN TYPE G, 4 FT DIAMETER	U	5.00	\$2,000.00	\$10,000.00	\$2,800.00	\$14,000.00	(\$4,000.00)	
604.1951	SPECIAL CATCH BASIN TYPE G, 5 FT DIAMETER	U	2.00	\$2,900.00	\$5,800.00	\$3,000.00	\$6,000.00	(\$200.00)	
604.26	DROP INLETS TYPE F	U	2.00	\$1,700.00	\$3,400.00	\$1,800.00	\$3,600.00	(\$200.00)	
604.2941	SPECIAL DROP INLET TYPE G, 4 FT DIAMETER	U	6.00	\$1,800.00	\$10,800.00	\$2,400.00	\$14,400.00	(\$3,600.00)	
604.32	DRAINAGE MANHOLES	U	16.00	\$1,900.00	\$30,400.00	\$2,200.00	\$35,200.00	(\$4,800.00)	
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	6.00	\$2,800.00	\$16,800.00	\$2,800.00	\$16,800.00	\$0.00	
604.326	DRAINAGE MANHOLES, 6-FOOT DIAMETER	U	4.00	\$3,200.00	\$12,800.00	\$3,200.00	\$12,800.00	\$0.00	
604.398	SPECIAL DRAINAGE MANHOLES, 8-FOOT DIAMETER	U	2.00	\$7,975.00	\$15,950.00	\$8,000.00	\$16,000.00	(\$50.00)	
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$2,600.00	\$2,600.00	\$4,500.00	\$4,500.00	(\$1,900.00)	
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$2,650.00	\$2,650.00	\$3,250.00	\$3,250.00	(\$600.00)	
605.5069	6" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	5,600.00	\$21.00	\$117,600.00	\$6.50	\$36,400.00	\$81,200.00	
605.5129	12" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	380.00	\$28.00	\$10,640.00	\$8.00	\$3,040.00	\$7,600.00	
605.5159	15" PERF. CORR. POLYETHYL PIPE UND MODIFIED	LF	75.00	\$30.00	\$2,250.00	\$10.00	\$750.00	\$1,500.00	
605.5189	18" PERF. CORR.	LF	390.00	\$35.00	\$13,650.00	\$12.00	\$4,680.00	\$8,970.00	

POLYETHYL PIPE UND. -

MODIFIED

			Α-	PS&E = NHDOT Cost Estimate				
Item No:	Description	Unit	Quantity	A Unit Price	-Bidder Total	P Unit Price	S&E Total	A-PS&E
605.79	UNDERDRAIN FLUSHING BASINS	EA	6.00	\$280.00	\$1,680.00	\$400.00	\$2,400.00	Difference (\$720.00)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	6.00	\$1,800.00	\$10,800.00	\$2,000.00	\$12,000.00	(\$1,200.00)
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$450.00	\$900.00	\$500.00	\$1,000.00	(\$100.00)
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	1,700.00	\$16.00	\$27,200.00	\$15.00	\$25,500.00	\$1,700.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	160.00	\$23.00	\$3,680.00	\$25.00	\$4,000.00	(\$320.00)
606.5716	WOOD GUARDRAIL (DOUBLE 4"X8" RAIL, 6'-6" WOOD POSTS)	LF	137.50	\$45.00	\$6,187.50	\$40.00	\$5,500.00	\$687.50
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,800.00	\$5,600.00	\$3,000.00	\$6,000.00	(\$400.00)
608.26	6" CONCRETE SIDEWALK (F)	SY	255.00	\$38.00	\$9,690.00	\$40.00	\$10,200.00	(\$510.00)
608.74	4" STONE DUST WEARING SURFACE FOR TRAILS	CY	140.00	\$76.00	\$10,640.00	\$25.00	\$3,500.00	\$7,140.00
609.01	STRAIGHT GRANITE CURB	LF	890.00	\$16.50	\$14,685.00	\$19.00	\$16,910.00	(\$2,225.00)
609.01187	STRAIGHT GRANITE CURB 18 IN HIGH, W/ 3 IN ROUNDED EDGE	LF	130.00	\$28.00	\$3,640.00	\$40.00	\$5,200.00	(\$1,560.00)
609.214	STRAIGHT GRANITE SLOPE CURB, 4" HIGH	LF	180.00	\$14.00	\$2,520.00	\$15.00	\$2,700.00	(\$180.00)
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	305.00	\$16.00	\$4,880.00	\$15.00	\$4,575.00	\$305.00
609.226	STRAIGHT GRANITE SLOPE	LF	40.00	\$16.00	\$640.00	\$15.00	\$600.00	\$40.00

CURB WITH RADIAL JOINTS, 6" HIGH

			A -	PS&E Con	nparison	PS&E = NHDOT Cost Estimate			
Item		A-Bidder				PS&E _ A-PS&E			
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
612.21283	24" STEEL CASING WITH 10" HDPE FORCE MAIN	LF	105.00	\$200.00	\$21,000.00	\$235.00	\$24,675.00	(\$3,675.00)	
612.352	AIR RELEASE VALVE SEWER MANHOLE	EA	1.00	\$12,500.00	\$12,500.00	\$25,000.00	\$25,000.00	(\$12,500.00)	
612.72410	10" HDPE FORCE MAIN, SDR 17	LF	961.00	\$60.00	\$57,660.00	\$135.00	\$129,735.00	(\$72,075.00)	
612.86510	10" COUPLING	EA	2.00	\$1,000.00	\$2,000.00	\$2,500.00	\$5,000.00	(\$3,000.00)	
612.951	SEWER MAIN INSULATION	SY	36.00	\$24.00	\$864.00	\$15.00	\$540.00	\$324.00	
615.02	TRAFFIC SIGN TYPE B (F)	SF	45.50	\$125.00	\$5,687.50	\$60.00	\$2,730.00	\$2,957.50	
615.022	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS (F)	SF	22.75	\$200.00	\$4,550.00	\$110.00	\$2,502.50	\$2,047.50	
615.024	RELOCATING TRAFFIC SIGN, TYPE B	U	1.00	\$200.00	\$200.00	\$325.00	\$325.00	(\$125.00)	
615.03	TRAFFIC SIGN TYPE C (F)	SF	187.25	\$45.00	\$8,426.25	\$40.00	\$7,490.00	\$936.25	
615.06	TRAFFIC SIGN TYPE CC (F)	SF	52.59	\$12.00	\$631.08	\$11.00	\$578.49	\$52.59	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	35,600.00	\$1.00	\$35,600.00	\$1.00	\$35,600.00	\$0.00	
618.7	FLAGGERS	HR	6,000.00	\$20.00	\$120,000.00	\$21.00	\$126,000.00	(\$6,000.00)	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$40,000.00	\$40,000.00	\$100,000.00	\$100,000.00	(\$60,000.00)	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$13,000.00	\$39,000.00	\$3,700.00	\$11,100.00	\$27,900.00	
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	30.00	\$5.00	\$150.00	\$3.25	\$97.50	\$52.50	
621.31	SINGLE DELINEATOR WITH POST	EA	70.00	\$38.00	\$2,660.00	\$32.00	\$2,240.00	\$420.00	
622.1	STEEL WITNESS MARKERS	EA	65.00	\$25.00	\$1,625.00	\$25.00	\$1,625.00	\$0.00	
622.2	CONCRETE BOUNDS	EA	19.00	\$300.00	\$5,700.00	\$300.00	\$5,700.00	\$0.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	32,500.00	\$0.18	\$5,850.00	\$0.15	\$4,875.00	\$975.00	
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	320.00	\$1.50	\$480.00	\$0.60	\$192.00	\$288.00	
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	125.00	\$2.50	\$312.50	\$1.00	\$125.00	\$187.50	

Α-

- PS&E Comp	arison		PS&E = NHDOT Cost Estimate				
A-Bi	dder	PS&E	PS&E				
Linit Drice	Total	Linit Drice	Total	Difference			

Item				A-Bidder		P	 S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	65.00	\$5.00	\$325.00	\$3.50	\$227.50	\$97.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	60.00	\$5.00	\$300.00	\$6.00	\$360.00	(\$60.00)
641	LOAM	CY	85.00	\$22.00	\$1,870.00	\$25.00	\$2,125.00	(\$255.00)
644.82	SALT-TOLERANT GRASS SEED, TYPE 82	LB	40.00	\$38.00	\$1,520.00	\$20.00	\$800.00	\$720.00
645.0001	TURBIDITY BARRIER	LF	550.00	\$20.00	\$11,000.00	\$20.00	\$11,000.00	\$0.00
645.3	EROSION STONE	TON	1,500.00	\$24.00	\$36,000.00	\$22.00	\$33,000.00	\$3,000.00
645.42	TEMPORARY SLOPE STABILIZATION TYPE B (WILDLIFE FRIENDLY)	SY	28,000.00	\$1.25	\$35,000.00	\$1.20	\$33,600.00	\$1,400.00
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	15,200.00	\$1.35	\$20,520.00	\$1.50	\$22,800.00	(\$2,280.00)
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	160.00	\$8.00	\$1,280.00	\$10.00	\$1,600.00	(\$320.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,200.00	\$3.00	\$6,600.00	\$5.00	\$11,000.00	(\$4,400.00)
645.531	SILT FENCE	LF	1,600.00	\$2.50	\$4,000.00	\$2.25	\$3,600.00	\$400.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	(\$2,500.00)
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	220.00	\$45.00	\$9,900.00	\$55.00	\$12,100.00	(\$2,200.00)
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	Α	7.00	\$1,700.00	\$11,900.00	\$1,800.00	\$12,600.00	(\$700.00)
647.1	HUMUS	CY	2,500.00	\$19.00	\$47,500.00	\$15.00	\$37,500.00	\$10,000.00
647.16	HUMUS, 6 IN DEEP	CY	270.00	\$14.50	\$3,915.00	\$15.00	\$4,050.00	(\$135.00)
650.2	LANDSCAPING	U	1.00	\$8,000.00	\$8,000.00	\$6,365.00	\$6,365.00	\$1,635.00

		A - PS&E Comparison							
Item		A-Bidder					PS&E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
670.02	SEDIMENT SUMP MEASURING BLOCK	EA	2.00	\$525.00	\$1,050.00	\$275.00	\$550.00	\$500.00	
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$6,000.00	\$6,000.00	\$44,000.00	\$44,000.00	(\$38,000.00)	
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$9,000.00	\$18,000.00	\$8,000.00	\$16,000.00	\$2,000.00	
670.95	TEMPORARY SAFETY FENCE	LF	1,125.00	\$5.00	\$5,625.00	\$4.00	\$4,500.00	\$1,125.00	
692	MOBILIZATION	U	1.00	\$800,000.00	\$800,000.00	\$249,957.65	\$249,957.65	\$550,042.35	
693	ON-THE-JOB TRAINING OF UNSKILLED WORKERS	\$	600.00	\$1.00	\$600.00	\$1.00	\$600.00	\$0.00	
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$500.00	\$500.00	\$2,800.00	\$2,800.00	(\$2,300.00)	
697.41	CRITICAL PATH METHOD(CPM) ELECTRONIC SCHEDULE	U	1.00	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00	(\$6,500.00)	
698.12	FIELD OFFICE TYPE B	MON	24.00	\$1,700.00	\$40,800.00	\$1,500.00	\$36,000.00	\$4,800.00	
698.2	PHYSICAL TESTING LABORATORY	MON	24.00	\$800.00	\$19,200.00	\$800.00	\$19,200.00	\$0.00	
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00	
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$0.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00	
1010.3	QUALITY CONTROL QUALITY ASSURANCE(QC/QA) ASPHALT	\$	21,000.00	\$1.00	\$21,000.00	\$1.00	\$21,000.00	\$0.00	
1010.41	QUALITY CONTROL QUALITY ASSURANCE(QC/QA) FOR CONCRETE	\$	33,000.00	\$1.00	\$33,000.00	\$1.00	\$33,000.00	\$0.00	

\$8,943,584.35

\$8,625,591.79

\$317,992.56